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if(OrderSelect(0,SELECT_BY_POS,MODE_TRADES) == true) «—— 77
{
//a>2OmR23>4o0-X
if(OrderType() == OP_BUY) ¢—— 1
{
if(Close[0] < Low[iLowest(Symbol(),0,MODE_LOW,Break_Period,1)]
&& OrderCloseTime() == 0)
{
bool Closed = OrderClose(OrderTicket(),OrderLots(),OrderClosePrice(),
Adjusted_Slippage,Magenta);

if(Closed == true)
{
Buy_Ticket = 0; A
)
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//>3a—bR223>o0-X
else if(OrderType() == OP_SELL) «—— 75
{
if(Close[0] > High[iHighest(Symbol(),0,MODE_HIGH,Break_Period,1)] |
&& OrderCloseTime() == 0) —F

{ -
Closed = OrderClose(OrderTicket(),OrderLots(),OrderClosePrice(),

Adjusted_Slippage,Aqua);

if(Closed == true)
{

by

Sell Ticket = 0: [ 7



